

ESTIMATEAJJU AUTO
DAHEGAON

No.: 1500

Page: 1

Date: 27/02/2026

S.No.	Part No.	Company	Particulars	Vehicle	Qty.	HSN	NET	Amount
1	ARF7227B	ARF (M)	IGNITION SWITCH	SPLENDOR PR	2		243.75	487.50
2	ARF7270	ARF (M)	IGNITION SWITCH	CD DLX	2		243.75	487.50
3	ARF7227	ARF (M)	IGNITION SWITCH	SPLENDOR	2		243.75	487.50
4	CCC1245	CHARAN	CHAIN COVER	SPLENDOR PV	2		234.00	468.00
5	CASFD470J	CHARAN	CHAIN COVER (BLACK)	PASSION PRO	2		189.00	378.00
6	OMNI2	COMMON	TUBELESS CANDLE OMNI	100CC	3		90.00	270.00
7	PIN1	COMMON	STAPLES PIN SMALL	100CC	20		28.00	560.00
8	TR1152	COMMON	HALOGEN LED TRISTO	100CC	5		440.00	2200.00
9	WP318	COMMON	TUBE 2.75.18 WILL POWER	COMMON	10		125.00	1250.00
10	HOPE0541	COMMON	BUZZER LIKE	100CC	10		15.00	150.00
11	HPBR	COMMON	BRAKE OIL 100 ML	100CC	10		28.00	280.00
12	M/C	COMMON	NALKI MOTORCYCLE	100CC	20		15.00	300.00
13	SBI175	COMMON	FORK OIL 175 ML STEELBIRD	100CC	40		42.00	1680.00
14	PA9720	COMMON	NUMBER PLATE COVER S/2	100CC	25		25.00	625.00
15	SBCL	COMMON	SIDE BAG CLAMP	100CC	7		42.00	294.00
16	TOP3	COMMON	SEAT COVER TOP BAMBOO	100CC	12		110.00	1320.00
17	HW	COMMON	HANDLE WEIGHT BLACK PVC	PULSAR 150	20		6.00	120.00
18	GP03	COMMON	GRIP COVER S\04 BOX PACK	100CC	10		45.00	450.00
19	TX289	COMMON	GRIP COVER S\2 BOX PACK	100CC	10		30.00	300.00
20	L219	COMMON	GRIP COVER S/5 NICE	100CC	12		30.00	360.00
21	TX01596	COMMON	GRIP COVER INDOLA BALCK	100CC	12		17.00	204.00
22	GP7	COMMON	LEVER COVER PVC	100CC	20		13.00	260.00
23	CD2022C	DEMAX	CLUTCH CABLE	SPLENDOR SU	10		63.80	638.00
24	CD2003C	DEMAX	FRONT BRAKE CABLE	SPLENDOR	10		73.70	737.00

Carried Forward:

276

14306.50

Discount

0.00

ESTIMATEAJJU AUTO
DAHEGAON

No.: 1500

Page: 2

Date: 27/02/2026

S.No.	Part No.	Company	Particulars	Vehicle	Qty.	HSN	NET	Amount
25	CD2002C	DEMAX	CLUTCH CABLE	SPLENDOR	10		61.60	616.00
26	CD2021C	DEMAX	ACC CABLE	SPLENDOR SU	10	8714	52.25	522.50
27	CD2024B	DEMAX	SPEEDO METER CABLE	SPLENDOR SU	10		54.45	544.50
28	DXS601	DEMAX	SPEEDO METER CABLE BS6	SHINE	5		55.55	277.75
29	CD647CD	DEMAX	CLUTCH CABLE COMFORTEC	PLATINA 100	5		68.20	341.00
30	CD592C	DEMAX	CLUTCH CABLE	DISCOVER 10	5		80.85	404.25
31	CD17910	DEMAX	ACC CABLE BS6	SPLENDOR PL	1		67.10	67.10
32	DRV102	DRIVEN	FRONT MUDGUARD	CD DLX	6		195.00	1170.00
33	SRV104	DRIVEN	FRONT MUDGUARD	PASSION PLU	6		182.50	1095.00
34	DRV202	DRIVEN	HEAD LIGHT MASK	SPLENDOR	8		150.00	1200.00
35	DRV205	DRIVEN	HEAD LIGHT MASK 2016	CD DLX	4		182.50	730.00
36	DRV235	DRIVEN	HEAD LIGHT MASK LED	PLATINA	2		247.50	495.00
37	DRV208	DRIVEN	HEAD LIGHT MASK N.M	PASSION PRO	4		290.00	1160.00
38	DRV155	DRIVEN	FRONT MUDGUARD	DISCOVER 10	2		195.00	390.00
39	DRV181	DRIVEN	FRONT MUDGUARD	SHINE	1		195.00	195.00
40	1471C	ESTO	TIMING TENSIONER PATTI	HH	10		68.20	682.00
41	19040	ESTO	BRAKE DRUM PLATE BOLT	KB4S	10		8.68	86.80
42	1471	ESTO	CHAIN ADJUSTER	HH	6		9.30	55.80
43	1458D	ESTO	HANDLE BALLS CAGE	SPLENDOR SU	20		33.48	669.60
44	1458E	ESTO	HANDLE BALLS CAGE	HH	20		27.28	545.60
45	15013	ESTO	LADIES HANDLE W/HOOK PC	100CC	5		43.40	217.00
46	1592	ESTO	SIDE STAND	SPLENDOR	5		86.80	434.00
47	1592K	ESTO	SIDE STAND BS6 SENSOR	SHINE	2		114.08	228.16
48	1592C	ESTO	SIDE STAND	SHINE	2		88.66	177.32

Carried Forward:

435**26610.88**

Discount

0.00

ESTIMATEAJJU AUTO
DAHEGAON

No.: 1500

Page: 3

Date: 27/02/2026

S.No.	Part No.	Company	Particulars	Vehicle	Qty.	HSN	NET	Amount
49	1467A	ESTO	BRAKE DRUM PLATE BOLT	HH	20		8.06	161.20
50	1594	ESTO	SPEEDO METER WARM STEEL	SPLENDOR	20		47.12	942.40
51	1471C	ESTO	TIMING TENSIONER PATTI	HH	10		29.76	297.60
52	1503	ESTO	HALF AXLE	HH	10		31.00	310.00
53	1458A	ESTO	BALL HEAD RACER SET	SPLENDOR SU	10		161.20	1612.00
54	1417	ESTO	FRONT FOOT REST	SPLENDOR	30		52.08	1562.40
55	STEEL	HARIOM	STEEL GRIP TAPE 10 MRP	100CC	30		8.50	255.00
56	RESI2	HARIOM	RESI BOND 10 GM 20MRP	100CC	30		20.00	600.00
57	23123GE	HH OE	PRIMARY GEAR	HH	5		246.50	1232.50
58	HOPE997	HOPE	OIL PUMP SPROCKET	HH	10		37.20	372.00
59	HOPE0631	HOPE	LEVER SET	HH	10		77.50	775.00
60	HO402	HOPE	LEVER SET	SHINE	10		89.90	899.00
61	HOBRHH	HOPE	BRAKE YOKE N/M	HH	3		60.14	180.42
62	HOPE2357	HOPE	HEAD DOWEL KIT	KB4S	10		6.20	62.00
63	HOPE2356	HOPE	HEAD DOWEL KIT	HH	20		7.44	148.80
64	HP4T	HP OIL	ENGINE OIL HP SPLENDID 900ML	100CC	40		160.00	6400.00
65	KQ262	KING	CLUTCH HOUSING	HH	1		141.00	141.00
66	KQ432	KING	CLUTCH HOUSING	PASSION PRO	2		154.80	309.60
67	MAGO	MASCOT	ENGINE OIL 900ML GOLD	100CC	20		145.00	2900.00
68	MSB	MICO	PLUG (SPL)	HH	50		40.00	2000.00
69	MSP	MICO	PLUG (SPL)	PULSAR	10		40.00	400.00
70	MK1203	MK	CLUTCH PLATE	SHINE	10		145.20	1452.00
71	MK1034	MK	CLUTCH PLATE	CT100	10		168.60	1686.00

Carried Forward:

806**51309.80**

Discount

0.00

ESTIMATEAJJU AUTO
DAHEGAON

No.: 1500

Page: 4

Date: 27/02/2026

S.No.	Part No.	Company	Particulars	Vehicle	Qty.	HSN	NET	Amount
72	MKJUP	MK B.S	BRAKE SHOE GREEN	JUPITER	20		125.00	2500.00
73	MK4202	MK B.S	BRAKE SHOE N.M	ACTIVA	20		100.00	2000.00
74	MK4102	MK B.S	BRAKE SHOE FRONT	SPLENDOR	40		100.00	4000.00
75	MKHH	MK B.S	BRAKE SHOE	HH	40		75.00	3000.00
76	MK4S	MK B.S	BRAKE SHOE	KB4S	40		80.00	3200.00
77	MK4003	MK B.S	BRAKE SHOE	KB100	40		100.00	4000.00
78	MK1107	MK B.S	CLUTCH PLATE	HH	20		90.00	1800.00
79	SMALL	O.T.	TIMING GEAR SMALL	HH	40		20.00	800.00
80	BIG	O.T.	TIMING GEAR BIG	HH	40		20.00	800.00
81	OT6301	O.T.	BEARING 6301RS	HH	100		40.00	4000.00
82	NCH6902	O.T.	BEARING 6902/6905 SET	HH	5		75.00	375.00
83	O4LB	OUTDO	BATTERY 4LB	100CC	6		750.00	4500.00
84	O45	OUTDO	BATTERY 4.5LB	100CC	2		920.00	1840.00
85	O5LB	OUTDO	BATTERY 5LB	100CC	2		900.00	1800.00
86	PA4262	PEE AAY	PLUG CAP (RED)	CD DLX LTS	20		16.80	336.00
87	PA1687	PEE AAY	PETROL PIPE TPT	100CC	1		271.60	271.60
88	PA6648	PEE AAY	FRONT NUMBER PATTI	SPLENDOR	10		27.30	273.00
89	SS11439	PEE AAY	REAR NUMBER PLATE	SPLENDOR	10		32.20	322.00
90	PA4218	PEE AAY	SPEEDO METER WORM	SHINE	5		84.00	420.00
91	PA0039	PEE AAY	PETROL PIPE CUT PCS	PASSION PRO	10		10.50	105.00
92	HOPE-22	PEE AAY	HEAD DOWEL KIT	SPLENDOR SU	10		9.80	98.00
93	PH4T	PHOENIXI	ENGINE OIL PHOENIXI 4TPLUS	100CC	40		120.00	4800.00
94	WB1	PHOENIXI	ENGINE OIL HEERO WB	100CC	20		95.00	1900.00
95	P307	PINNACLE	TAIL PANNEL S\03	CD DLX LTS	2		327.00	654.00

Carried Forward:

1349**95104.40**

Discount

0.00

ESTIMATEAJJU AUTO
DAHEGAON

No.: 1500

Page: 5

Date: 27/02/2026

S.No.	Part No.	Company	Particulars	Vehicle	Qty.	HSN	NET	Amount
96	P110	PINNACLE	SIDE PANELN.M	PASSION PRO	2		378.00	756.00
97	P110	PINNACLE	SIDE PANELN.M	PASSION PRO	2		396.00	792.00
98	P149	PINNACLE	SIDE PANEL 2019	HF DLX	4		342.00	1368.00
99	P132	PINNACLE	SIDE PANEL 2015	HF DLX	2		330.00	660.00
100	P132	PINNACLE	SIDE PANEL 2015	HF DLX	2		348.00	696.00
101	P101023	PINNACLE	HEAD LIGHT MASK	CT100	2		336.00	672.00
102	P596	PINNACLE	HEAD LIGHT MASK	PLATINA 100	2		366.00	732.00
103	P606	PINNACLE	HEAD LIGHT MASK (T-2)	PLATINA	2		330.00	660.00
104	PR8500	PRICOL NEW	OIL PUMP	HH	4		207.20	828.80
105	BS370SG	ROLON	SPROCKET KIT SP125 BS6	SHINE	5		854.25	4271.25
106	CSB111	ROLON	SPROCKET KIT	PASSION PLU	10		498.00	4980.00
107	BS172	ROLON	SPROCKET KIT	SHINE	5		838.50	4192.50
108	BS221	ROLON	SPROCKET KIT 110	DREAM YUG	5		789.75	3948.75
109	BS230SG	ROLON	SPROCKET KIT	XL SUPER	2		581.25	1162.50
110	CSB105	ROLON	SPROCKET KIT N/M	PULSAR 150	2		769.50	1539.00
111	CSB168	ROLON	SPROCKET KIT	DISCOVER 10	5		708.75	3543.75
112	RG92	ROLON	SPROCKET KIT	PLATINA 100	5		655.50	3277.50
113	B25H842	ROLON	TIMING CHAIN RED BOX	HH	20		92.25	1845.00
114	RB25HSCS9	ROLON	TIMMING CHAIN	SHINE	8		108.00	864.00
115	R740	ROLON BELT	BELT	ACTIVA	2		185.50	371.00
116	R731	ROLON BELT	BELT	WEGO	2		224.70	449.40
117	RASL258	SELON	ROCKER SET	SHINE	2		231.00	462.00
118	RASL254	SELON	ROCKER SET	CD DLX	2		231.00	462.00
119	RASL251	SELON	ROCKER SET	HH	3		114.00	342.00

Carried Forward:

1449**133979.85**

Discount

0.00

ESTIMATEAJJU AUTO
DAHEGAON

No.: 1500

Page: 6

Date: 27/02/2026

S.No.	Part No.	Company	Particulars	Vehicle	Qty.	HSN	NET	Amount
120	CASL613	SELON	CAM SHAFT ASSY.	SHINE	2		393.00	786.00
121	CASL601	SELON	CAM SHAFT ASSY	HH	3		234.00	702.00
122	S101	SERVO	ENGINE OIL 900 ML ECO	100CC	40		155.00	6200.00
123	S102	SERVO	ENGINE OIL 1 LTR 4T	100CC	20		170.00	3400.00
124	DLX005A	SK	MAGNET COVER PACKING GREEN	CD DLX	20		17.11	342.20
125	CD6005	SK	MAGNET PACKING BS6	CD DLX	20		15.08	301.60
126	S6300	SPEEDE	BEARING 6300	100CC	10		40.00	400.00
127	S6004	SPEEDE	BEARING 6004	100CC	10		42.00	420.00
128	S6202	SPEEDE	BEARING 6202	100CC	10		35.00	350.00
129	S6203	SPEEDE	BEARING 6203	100CC	10		42.00	420.00
130	S6201	SPEEDE	BEARING 6201	100CC	10		32.00	320.00
131	HS51BS6	STEELBIRD HE	AIR FILTER BS6	SHINE	6		98.70	592.20
132	HS51BS6	STEELBIRD HE	AIR FILTER BS6	SHINE	4		77.00	308.00
133	HH63	STEELBIRD OS	OIL FILTER SB6	SHINE	10		31.50	315.00
134	IS62JN	STEELBIRD RB	AIR FILTER PAPER	JUPITER	5		127.40	637.00
135	HA51BSVI	STEELBIRD RB	AIR FILTER BS4	ACTIVA	5		138.60	693.00
136	HS51	STEELBIRD RB	AIR FILTER (PAPER)	SHINE	1		77.00	77.00
137	MW888-SH	STEELBIRD RB	SPEEDO METER WARM PVC	SHINE	6		21.70	130.20
138	HH12	STEELBIRD RB	PUSH ROD RUBBER	HH	20		3.50	70.00
139	HH11	STEELBIRD RB	HANDLE RUBBER KIT	HH	20		16.10	322.00
140	HH51IS	STEELBIRD RB	AIR FILTER	SPLENDOR (I)	10		98.70	987.00
141	HH52SS	STEELBIRD RB	AIR FILTER (PAPER)	SPLENDOR SU	10		66.50	665.00
142	TX8564	TEXO	FRONT FOOT REST RUBBER	CT100	10		45.88	458.80

Carried Forward:

1711**152876.85**

Discount

0.00

ESTIMATEAJJU AUTO
DAHEGAON

No.: 1500

Page: 7

Date: 27/02/2026

S.No.	Part No.	Company	Particulars	Vehicle	Qty.	HSN	NET	Amount
143	TX1064	TEXO	COUPLING RUBBER	SPLENDOR SU	10		39.68	396.80
144	TXR268	TEXO	FRONT FOOT REST ASSY	STAR CITY	3		95.48	286.44
145	TX1045	TEXO	CHAIN COVER RUBBER	HH	20		1.86	37.20
146	TX1347	TEXO	CHAIN COVER RUBBER	SHINE	20		2.48	49.60
147	TX1641	TEXO	KICK LEVER RUBBER	KB4S	10		7.13	71.30
148	TX1672A	TEXO	OIL FILTER	CALIBER115	10		16.74	167.40
149	TX1160	TEXO	KICK LEVER RUBBER	HH	10		5.58	55.80
150	TX1138	TEXO	ACC MOUNTING	SPLENDOR	5	8714	17.36	86.80
151	TX1325	TEXO	SUSPENSION BUSH	HH	10		45.88	458.80
152	TX1004	TEXO	HANDLE GRIP S/2	SPLENDOR	10		29.76	297.60
153	T982	TMC	INDICATOR ASSY 4V	APACHE	6		145.60	873.60
154	T1628	TMC	MIRROR LATEST	PASSION PRO	8		67.20	537.60
155	T1762	TMC	MIRROR O/M	ACTIVA	8		61.60	492.80
156	T1715	TMC	MIRROR	PULSAR DTSI	8		67.20	537.60
157	T1765	TMC	MIRROR N.M	ACTIVA	8		67.20	537.60
158	T1615	TMC	MIRROR	SPLENDOR PR	8		77.28	618.24
159	T1609	TMC	MIRROR	SPLENDOR PL	8		57.12	456.96
160	T1766	TMC	MIRROR N.M	SHINE	8		70.00	560.00
161	TR981	TRISTO	MIRROR BS6	ACTIVA125	8		89.60	716.80
162	TT318	TVS TUBE	TUBE 3.00.18	100CC	10		170.00	1700.00
163	TVS11	TVS TYRE	TYRE 2.75-18 SC36 RIB	100CC	3		895.85	2687.55
164	TVS130	TVS TYRE	TYRE 2.75.18 DURA PRO	100CC	3		1206.50	3619.50
165	TVS325	TVS TYRE	TYRE 3.00.18 DURO PRO KIT	100CC	2		1273.00	2546.00
166	TVS213	TVS TYRE	TYRE 3.00.17 DURAPRO TT	100CC	2		1284.40	2568.80

Carried Forward:

1909**173237.64**

Discount

0.00

ESTIMATEAJJU AUTO
DAHEGAON

No.: 1500

Page: 8

Date: 27/02/2026

S.No.	Part No.	Company	Particulars	Vehicle	Qty.	HSN	NET	Amount
167	TVS111	TVS TYRE	TYRE 2.75.17 RIB	100CC	2		901.55	1803.10
168	TVS546	TVS TYRE	TYRE 80/100-18 DURAPRO TL	100CC	5		1329.05	6645.25
169	TVS3434	TVS TYRE	TYRE 80/100-18 TT 625 TL	100CC	5		1157.10	5785.50
170	TVS24	TVS TYRE	TYRE 80/100-17 ATT525M TBL	100CC	3		1217.90	3653.70
171	TVS26	TVS TYRE	TYRE 80/100-17 REINF JUMBO GT TL	100CC	3		1142.85	3428.55
172	TVS285	TVS TYRE	TYRE 90-100-10 DURAPRO TL	100CC	5		855.95	4279.75
173	TVS3	TVS TYRE	TYRE 90/100-10 CONTA 625N TBL	100CC	2		1021.25	2042.50
174	TVS536	TVS TYRE	TYRE 90/90-12 DURA PRO TL	100CC	1		985.15	985.15
175	TVS463	TVS TYRE	TYRE 90/90-12 CONTA 550 TL	100CC	1		972.80	972.80
176	U1126	ULTRON	IGNITION SWITCH BS6	CD DLX LTS	2		253.50	507.00
177	HLAMCDXL	VARROC	HEAD LIGHT ASSY	CD DLX LTS	2		363.00	726.00
178	VRPL	VARROC	HEAD LIGHT ASSY	PLATINA	2		423.00	846.00
179	VHLAMPAS	VARROC	HEAD LIGHT ASSY	PASSION PLU	2		266.25	532.50
180	VHLAMSPL	VARROC	HEAD LIGHT ASSY.	SPLENDOR PL	2		268.50	537.00
181	HLAMDSVR	VARROC	HEAD LIGHT ASSY	DISCOVER 10	2		609.75	1219.50
182	DURODSVR	VARROC	VALVE SEAL	DISCOVER 10	10		42.90	429.00
183	VLSLAUTO	VARROC	VALVE SEAL	KB4S	5		42.90	214.50
184	STMSPPR3	VARROC	SELF CARBON BRUSH	PASSION PRO	6		53.82	322.92
185	STMSUNICE	VARROC	SELF CARBON BRUSH	SHINE	6		67.08	402.48
186	CDEISPLDA	VARROC	CDI UNIT I3S	SPLENDOR	1		826.80	826.80
187	VLSLHH2W	VARROC	VALVE SEAL	HH	50		42.90	2145.00
188	TOP2	VKT	SEAT COVER TOP LOSSES	100CC	50		45.00	2250.00
189	VKT4	VKT	PETROL TANK COVER MOBILE POCKET	100CC	20		95.00	1900.00

Carried Forward:

2096**215692.64**

Discount

0.00

ESTIMATEAJJU AUTO
DAHEGAON

No.: 1500

Page: 9

Date: 27/02/2026

S.No.	Part No.	Company	Particulars	Vehicle	Qty.	HSN	NET	Amount
190	X406	X10	INDICATOR BS6	SHINE	6		150.00	900.00
191	X114	X10	INDICATOR N/M LATEST	PASSION PRO	6		132.50	795.00
192	XI102	X10	INDIACTOR ASSY	SPLENDOR PL	6		110.00	660.00
193	X403	X10	INDICATOR ASSY	SHINE	6		145.00	870.00
194	XI104	X10	INDIACTOR ASSY	PASSION PRO	6		110.00	660.00
195	XI105	X10	INDIACTOR ASSY	SPLENDOR PR	6		110.00	660.00
196	X113	X10	INDICATOR	GLAMOUR	6		132.50	795.00
197	X116	X10	INDICATOR BS6	PASSION PRO	6		132.50	795.00

2144**221827.64**

** No Guarantee for Plastic / Electronic Items **

Discount

0.00

** Warrenty on Plastic / Electronic Items as per Manufacturer's advice. **

Packing :

250.00

Total :**222078.00**